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Lösungen Quiz 3

Version A

Bestimmen Sie den Grenzwert lim
x→2+

x2 − 5x+ 6

|x− 2|+ |x2 − 8x+ 12|
.

(a) existiert nicht,

(b) ∞,

(c) −1
5
,

(d) 1
5
.

Lösung: (c)

lim
x→2+

x2 − 5x+ 6

|x− 2|+ |x2 − 8x+ 12|
= lim

x→2+

>0︷ ︸︸ ︷
(x− 2)(x− 3)

|x− 2|(1 + |x− 6|)

= lim
x→2+

x− 3

1 + |x− 6|
= −1

5

Version B

Bestimmen Sie den Grenzwert lim
x→2−

x2 − 5x+ 6

|x− 2|+ |x2 − 8x+ 12|
.

(a) existiert nicht,

(b) ∞,

(c) −1
5
,

Bitte wenden!



(d) 1
5
.

Lösung: (d)

lim
x→2−

x2 − 5x+ 6

|x− 2|+ |x2 − 8x+ 12|
= lim

x→2−

<0︷ ︸︸ ︷
(x− 2)(x− 3)

|x− 2|(1 + |x− 6|)

= lim
x→2−

− x− 3

1 + |x− 6|
= +

1

5

Version C

Bestimmen Sie den Grenzwert lim
x→2

x2 − 5x+ 6

|x− 2|+ |x2 − 8x+ 12|
.

(a) existiert nicht,

(b) ∞,

(c) −1
5
,

(d) 1
5
.

Lösung: (a)

lim
x→2−

x2 − 5x+ 6

|x− 2|+ |x2 − 8x+ 12|
= lim

x→2−

<0︷ ︸︸ ︷
(x− 2)(x− 3)

|x− 2|(1 + |x− 6|)

= lim
x→2−

− x− 3

1 + |x− 6|
= +

1

5

und

lim
x→2+

x2 − 5x+ 6

|x− 2|+ |x2 − 8x+ 12|
= lim

x→2+

>0︷ ︸︸ ︷
(x− 2)(x− 3)

|x− 2|(1 + |x− 6|)

= lim
x→2+

x− 3

1 + |x− 6|
= −1

5
.

Da limx→2−
x2−5x+6

|x−2|+|x2−8x+12| 6= limx→2+
x2−5x+6

|x−2|+|x2−8x+12| existiert der Grenzwert nicht.


